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29T ECON
2019
ECONOMICS
Full Marks : 100
Pass Marks : 30
Time : Three hours
The figures in the margin indicate full marks
for the questions.
Part A (F -9)
Q. No. 1 (a =f) carries 1 mark each 1x6= 6
Q. No. 2 - 7 carries 2 marks each 2%x6 =12
Q. No. 8 -12 carries 4 marks each 4x5 = 20
Q. No. 13 & 14 carries 6 marks each 6x2 =12
' Total = 50
Part B (4 - =)
Q. No. 15 (a - f) carries 1 mark each » 1x6= 6
Q. No. 16 - 21 carries 2 marks each ; 2x6 = 12
Q. No. 22 -26 carries 4 marks each AX5I=120
Q. No. 27 & 28 carries 6 marks each 6x2 =12
Total = 50

Total (Part A & B): 50 +50=100
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PART-A /as—vsm

(a) _ Defme the term scarc1ty as. used in econorrucs R ' 1

» c;_vmﬁﬂﬁ“'aﬁﬁﬁszemﬂrtﬁaﬁﬁﬁmavr@ﬂﬁhn| | .
® Whatlsopportumtycost’? S L ‘ T 1

-

e H e

o (¢) = If marginal ut111ty of a commodlty is l'ugher than the pnce, then the
E consumer w111 buy more of the commodlty . 1

(Wrzte trie or false)

e ﬂﬁ'a%tama'aﬁ@¢“©ﬁamﬁsrEﬁﬁmatﬁ‘tﬁiﬁ%ezm;cwusihnswﬁa
O R R R - (o7 & T )

(dj’f ~ What will be the effect of pnce change on supply of a commodlty

with petfectly: inelastic supply 2. 1

syt R G B T m@ﬁaﬂﬁaﬁam%ﬁ :

(e How will an mcrease 1n the pnce ‘of mputs stht the su‘pply curve ?

o ‘@Ww—qﬁmmﬁm@aﬂamwm«w? 1 |
N () Whatlsshut-downpnce? e o A
Why the producuon p0551b111ty curve slopes downward from left to nght 2
@aommﬁm mﬁnmwwmwmﬁwa?
. - Give two reasons of a leftward shift in the demand curve o 5

wifnt @%nwwwmﬁ@w fbrasmﬁmﬂwn

The price elasuc1ty of demand of a commodlty is' 4 and the percentage §
A change in price is 8 Fmd the percentage change in the quantlty

demanded

What is flxed factor ? Give one example.' S c | '1+1=2 :

ﬁ?%‘wﬁﬁ? @W@ﬁmu 5
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10.

180

19

What is meant by inelastic supply ? Draw an inelastic supply curve.
i1 =248

wEfoRse @l 5 ¢ quE SRiogeRe @ @@ SRe F91

Mention twe differences between monopoly and perfectly competitive
market. e 72

G IHF O A efsriiierERs T 757 ALy O FH

Distinguish between change in quantity demanded and change in
demand. ‘ 4

WW@WWWWW?H@ YA |

Mention the relationship between total utility and marginal utility. 4

B Teiaier ST @it SHEIAOR Tew TF Srd |

What is variable cost? Why the average variable cost (AVC) curve
becomes U shaped ?. 1+3=4

'Ww%vmﬂﬁaﬂ%mmqumuw

The productlon function of a firm is Q = DI IR

Find the amount required of factor K if the firm wants to produce 200
units with available 16 units of factor L.

(Q = Output, K=Capital, L = Labour) ; 4

<] T S BRI TR T Q = 2% K | U AR 16 43
L TAmeT S 200 T B Seeiv R RoIRE J@E @
K@WWCT?{WWI(Q § olvg AR, K = T, L= S )|

Mention thé effects of the following on the supply of a commodity.
2+2=4

(i)  Fall in the price of factors.

@(ii) Rise in the per unit tax.

G5! TR IS GHTS ©eTe SRl I R 2ol Sy |
() oM 7l g | ‘

i) = % wre w9 I
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13.

14.

Explain the Law of Variable Proportion with diagram. 6
foag e ARTeHE SoimA KR! 0t 4

Or/ J<)

The total fixed cost of a firm is Rs. 200. Fill in the blanks of the following
table. 6

Q4 ef SRR IO %3 IFF AR 200 50 | To1 Oiferpre Fsge i |

Output e AC AVC MC
T A
1 s i 100 b e
2 460 i 0 &
3 ! . 250 S i
4 s ;. i 230

Explain the process of Long-run Equilibrium Price determination of
perfectly competitive industry with diagram. :

: ' 6
s SRR SrpiR TR SR v Fdisae afeist by sRace
(IR 39|

Or/g2<

Show the effects of change in demand of a commodity on equilibrium
price, if : 3+3=6

(i)  the supply of the commodity is perfectly elastic

(i) the supply of the commodity is perfectly inelastic.

9Bl BT SRy wEl 87 biftnl S 2o oryat Tt —
(OB (1S Wi ol U BEICE
RS Ne oL BC RIS
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PART-B / 2-5i%t

15. (1) In what circumstances, the GDP of an economy can be equal to

GNP ? 1
% oRZ® 4 (™ GDP, GNP J 3 = A2

(b)) What is transfer payment ? o 1
SR ARl & 2 i
(¢ What is voluntary unemploymenf 2 1
R Rl & 2
(d) Wha_t is Break-Even income ? A 1
ool o f 2
() What is the vfull form of GST ? 1
GSTS 7=} =it o 2
()’ What is zero primary deficit ? : 1
=y el w2
16. Mention two subject matters of Macroeconomics. 2

IR R 75 ke S <1 |

17.  Mention any two types of leakages found in the Circular Flow of Income,
| 2

Wwﬁam@@mwma@mﬁm@mﬂﬁwl

18. What is investment multiplier ? Write the relationship between investmep
multiplier and MPC. 1+1=)

'ﬁﬁmﬂ@%ﬁ?ﬁmﬁ@%wwc-aWWmMI
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19.

20.

2k

24

25!

26.

Mention the two primary functions of money. 2

W 707 92 I S 4|

Mention two differences between revenue receipts and capital receipts.
oz A e e AR T 77 Ay B

State two sources of supply of foreign currency. 1+1=2

WA JaR @S 707 BT SR 41|

The value of MPC of an economy is 0-4. What amount of new investment
is required to generate new income of Rs. 500 crore in the economy ?
; , i

Q4 WIRE® MPC 3 i 0-4 | SIS Twritss 500 (IS 57 it tifes T
@ S siffmer Fom RIS dEed 27 ¢

Explain any two fiscal measures to solve the problems of excess demand in
an economy. 2+2=4

@mw@ﬁﬁwmwwmmw ﬁmmmw
RUSHIES I

Mention four factors causing disequilibrium in Balance of Payment of a
country. 4

ammﬁﬁmww—mm%—wﬁw SISG! S St < |

Write down four differences between Dlrect Tax and Indirect Tax. 4

AT Y G A@T I NG B! ALy ol |-

What is Budget Deficit ? What are the three types of Budgetary Deficit ?
1+3=4

Aites =it & ¢ e Qb O e /& & 2
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27. Describe the Circular Flow of Income in a Three Sector Economy. 6

28.

az D! QeTe WY e e e R
Or/ 9241

Explain the Expenditure Method of calculating Gross Domestic Product
(GDP). 6
5 X1 BeAH SIS T SRSCH! T F41 |

Explain the process of credit creation by commercial barks. 6
Ry @9 A6 S AfEant R w0

Or/ 2
Describe the Quantitative methods adopted by the Central Bank to control
credit created by commercial banks. 6

AR @ A T A FEEes e e @:@awwfvﬁsm—w
D= 1
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